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3 100kN/mM#Z#B % % -l -~ = -|3mZBZB| - ~ = - -| 100kN/m%#8 2% = -~ = -|3mE#B23 -~ - = =
ZThLS 1.00/ 000 ~ 6.63 83.61| #hbLlst | 000 ~ 000 1.69 8.89 Zh st 1.00] 500 ~ 803 83.61| #hbList | 500 ~ 803] 169 8.89
4 100kN/mM#Z#B 2 % -l -~ = -|3mZBzE| - ~ = - -| 100kN/M%#8 2% = -~ = -|3mE#B23 -~ - = =
ZhLS 1.00/ 000 ~ 7.00 88.76| #hList [000 ~ 7.00| 1.82 9.55 Zh st 1.00] 500 ~ 879 88.76| #hList | 500 ~ 879 182 9.55
5 100kN/mM#Z#B 2 % -l -~ = -|3mZBZB| - ~ = - -| 100kN/mM%#8 2% = -~ = -|3mE#B23 -~ - = =
ZhLS 1.00/ 000 ~ 6.28 78.89| #nList 000 ~ 0.00| 159 8.36 Zh st 1.00] 500 ~ 7.87 78.89| #h L4t | 500 ~ 7.87| 159 8.36
6 100kN/mM#Z#B 2 % -l -~ = -|3mZBzE| - ~ = - -| 100kN/mM%#8 2% = -~ = -|3mE#B23 -~ - = =
ZThLS 1.00/ 000 ~ 7.42 94.74] #h it | 000 ~ 7.42| 195 10.21 Zh st 1.00] 500 ~ 1104 9474 #h it | 500 ~ 11.04] 1.95 10.21
7 100kN/m%#8 2% 1.00| 000 ~ 0.74 110.99(3m%E#23| - ~ = = -| 100kN/M%#8 2% 1.00| 10.98 ~ 1347 110.99|3m%#8 x5 -~ = = =
ZThLS 1.00/0.74 ~ 852 100.00f #hrist [000 ~ 852 205 10.76 zh st 1.00] 500 ~ 10.98 100.00| #hLlst | 500 ~ 1347 2.05 10.76
8 100kN/m%#8 2% 1.00/ 000 ~ 0.97 114.60(3m%E#z5| - ~ = = -| 100kN/mM%#8 2% 1.00| 11.14 ~ 1476 114.60|3m%#E 2% -~ = = =
ZThLS 1.00/ 097 ~ 876 100.00f #+hrist [000 ~ 8.76] 203 10.66 Zh st 1.00] 500 ~ 11.14 100.00] #hist | 500 ~ 14.76 2.03 10.66
9 100kN/m%#8 2% 1.00/0.00 ~ 065 109.68(3m%E#25| - ~ = = -| 100kN/m%#8 2% 1.00( 11.81 ~ 1444 109.68|3m%#x % -~ = = =
ZhLS 1.00/0.65 ~ 844 100.00f #hList [000 ~ 8.44| 198 10.37 Zh st 1.00] 500 ~ 11.81 100.00| #hLlst | 500 ~ 1444 198 10.37
10 100kN/m%#8 2% 1.00/ 000 ~ 0.37 105.45(3m%E#B25| - ~ = = -| 100kN/M%#8 2% 1.00| 12.36 ~ 13.92 105.45|3m%#8x % -~ = = =
ZThLS 1.00/ 037 ~ 8.15 100.00f #hrist [000 ~ 8.15] 1.95 10.20 zh st 1.00] 500 ~ 12.36 100.00f #hList | 500 ~ 1392 1.95 10.20
100kN/mM#Z#B 2 % ~ ImEHEZD ~ 100kN/M%Z#BZ % ~ ImEEZD ~
ZThLS ~ Zh LS ~ LS ~ ZTh LS ~
100kN/mM#Z#B 2 % ~ ImEHEZD ~ 100kN/M%Z#BZ % ~ ImEEZD ~
ZhLS ~ Zh LS ~ S ~ ZThLS ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/M%Z#BZ % ~ ImEEZ D ~
ZThLS ~ Zh LS ~ LS ~ ZThLS ~
100kN/mM#Z#B 2 % ~ ImEHEZD ~ 100kN/M%Z#BZ % ~ ImEEZD ~
Zh st ~ Zh s ~ Zh st ~ Zh st ~
100kN/mMZ#8 % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ 3ImEBZD ~
Zh st ~ Zh s ~ Zh st ~ Zh st ~
100kN/mMZ#8% % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ 3ImEBZD ~
Zh st ~ Zh s ~ Zh st ~ Zh st ~
100kN/mMZ#8 % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ 3ImEBZD ~
st ~ Zh st e Zh s ~ st ~
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